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Question #:1

An administrator is installing a Platform Services Controller Instance.

Which two options are available during the installation process? (Choose two.)
A. choose deployment size

B. specify vSphere administrator credentials

C. enable Enhanced Linked Mode

D. create a vCenter Single sign-on domain

E. join an existing domain

Answer:DE

Explanation
References:

Question #:2

An administrator wants to enable vCenter High Availability (vCenter HA) for a VMware vCenter Server
Appliance (vCSA). The environment consists of the following:

50ms of latency between sites

vCSA deployment size is small

3 hosts in the cluster hosting vCenter

What must the administrator do to enable vCenter HA?

A. Add one host to reach the minimum requirement of 4 hosts.

B. Deploy Windows vCenter because vCenter HA is not supported on vCSA.

C. Deploy a vCSA of size medium or larger.

D. Decrease network latency to 10ms or lower.

Answer: D

Explanation
References:

Question #:3

Which optional module of vSphere Update Manager supports patch recalls and notifications?
A. VMware vSphere Update Manager Download Service

B. vCenter Server Lifecycle Manager Service

C. vSphere Auto Deploy

D. VMware vSphere Update Manager Extension

Answer: A

Explanation
References:

Question #:4

In a single cluster VM encryption scenario, which two VMs should be executed from encryption? (Choose
two.)

A. Platform Services Controller

B. vSphere Replication Appliance

C. vRealize Operations Manager

D. VMware vCenter Server

E. vRealize Log Insight

Answer: B D

Question #:5
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Refer to the exhibit.

What is required to fix the PSOD?

A. Skip unused VIBs during boot up.

B. Reboot the host.

C. Remove unsigned VIBs.

D. Reboot and enable secure boot from the UEFI firmware interface.

Answer: D

Explanation
References:

Question #:6

Which two availability features require a VM restart for recovery? (Choose two.)
A. vSphere DPM

B. vSphere vMotion

C. vSphere Replication

D. vSphere Fault Tolerance

E. vSphere HA

Answer: CE
Question #:7

A vSphere administrator uses a Dedicated Failover Hosts Admission Control Policy in a cluster. An ESXi host
fails and vSphere HA attempts to restart the VMs onto the dedicated failover hosts. The hosts have insufficient
resources.

What happens to the VMs?

A. vSphere HA restarts VMs in another cluster.

B. vSphere HA suspends the VMs until a host is available.

C. vSphere HA powers down the VMs.

D. vSphere HA attempts to restart the VMs on other hosts in the cluster.

Answer: D
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